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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

4-

5.

Growing older and more decrepit appeared to be an ---------- and necessary part of being
human.

1) inevitable 2) intangible 3) unforeseeable 4) unsentimental

I don’t really think I’d have the ---------- to finish a marathon!

1) concern 2) candor 3) endurance 4) autonomy

Her marriage started to improve once her husband finally ---------- he had an anger
problem and began to take counseling,

1) identified 2) emerged 3) hesitated 4) acknowledged
Society is an interdependent system that ---------- widespread cooperation to function,

1) proceeds 2) requires 3) fascinates 4) conveys

Our blue planet is a ---------- . Life depends on water, yet in its natural form, the water in
the oceans will not sustain us because we cannot drink salt water.

1) refuge 2) remedy 3) paradox 4) vacillation

I thought I was buying a/an ---------- native Indian carving, but discovered later that it
was machine-made.

1) genuine 2) definitive 3) secretive 4) artificial

The entrepreneur had a well-deserved reputation for ---------- , having accurately
anticipated many changes unforeseen by established business leaders.

1) modesty 2) hindsight 3) prescience 4) extroversion
Studies of longevity among turtles are sometimes ---------- by the fact that the subjects
live so long that researchers retire before the studies can be completed.

1) stabilized 2) hampered 3) diversified 4) verified

Kevlar is a ---------- new material which is used for everything from airplane wings, to
bullet-proof vests, to hockey sticks.

1) prescriptive 2) versatile 3) dormant 4) derivative

10- If exploitation of the planet’s resources continues as at present, then the lifestyle we

currently enjoy ---------- the risk of causing significant damage to the world.
1) proposes 2) puts 3) shapes 4) runs



Y axin 444 (V14 u5) s Led sale

PART B: Cloze Test
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits

each space. Then mark the correct choice on your answer sheet.

Scientists and philosophers have been grappling with the relationship between
language and thought for centuries. There have always been (11) ---------- that our
picture of the Universe depends on our native tongue. Since the 1960s, however,
(12) =mmmmmmee- the ascent of thinkers like Noam Chomsky, and a host of cognitive
scientists, (13) ---------- that linguistic differences don’t really matter, (14) ----------
language is a universal human trait, and that our ability to talk to one another owes
more to our shared genetics (15) -----—--—--- . But now the pendulum is beginning to
swing the other way as psychologists re-examine the question.

11- 1) that they argue 2) those who argue
3) an argument by those 4) arguing those who
12- 1) with 2) for 3) by 4)in
13- 1) whose consensus 2) who has the consensus
3) the consensus has been 4) 1s the consensus
14- 1)a 2) the 3) what 4) that
15- 1) and our cultures vary 2) than to our varying cultures
3) than our cultures that vary 4) as to our varying cultures

PART C: Reading Comprehension:

Directions: Read the following two passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

There are those who feel that long-term memory mechanisms might be further
subdivided on the basis of the kind of information being stored. The distinction at
issue was alluded to previously when it was pointed out that you can remember facts
of a personal nature (e.g., what you did last night) as well those of a non-personal
nature (e.g., that Napoleon was defeated at Waterloo, or the meaning of “famous™).
Memory for the former sort of information is called episodic memory while memory
for the latter is called semantic memory. The driving question for those interested in
this distinction is whether or not the two kinds of information at issue are handled by
two distinct long-term memory mechanisms.

Some early support for the claim that there are distinct memory mechanisms was
offered by informal (or anecdotal) evidence concerning individuals with hippocampal
damage. Such individuals often have intact memory for non-personal facts and word
meanings, but their memory of personal events is severely impaired. It is unclear what
should be concluded on this basis, however, because it is very difficult to assess
precisely when non-personal information was learned. Try to remember, for instance,



16-

17-

18-

19-

20-

when you first learned of Napoleon’s defeat at Waterloo. Some recent studies suggest
that the hippocampus plays a critical role in both episodic and semantic memory.

In one study, a comparison was made among amnesiacs between their memory for
personal
events and their memory for events of a more public nature. For each subject studied,
it was found that the onset of retrograde amnesia was the same whether the events at
issue were public or private. It is plausible, then, that memory for public events
(namely, those that occur during one’s lifetime) should be categorized under the
heading of episodic rather than semantic memory.

What is the passage mainly about?

1) A comparative study among amnesiacs

2) Inefficiency of long-term memory mechanisms

3) Why people easily forget important historic events

4) Distinction between episodic and semantic memory

The basis for subdividing long-term memory mechanisms is the ---------- 4
1) degree of hippocampal damage

2) amount of information being stored

3) type of information being stored

4) number of recent events a person has experienced

Episodic memory is our memory for ---------- X

1) events of a more public nature 2) facts of a personal nature

3) word meanings 4) historic events

Which of the following statements is true about people with hippocampal damage?

1) They have flawless memory for both non-personal facts and personal events.

2) Their memory for both word meanings and personal events is terribly damaged.

3) They have intact memory for personal events, but their memory of word meanings
is impaired.

4) They have flawless memory for non-personal facts, but their memory of personal
events 1s damaged.

The word “plausible” in paragraph 3 is similar in meaning to ---------- .
1) credible 2) divisible 3) eligible 4) flexible
PASSAGE 2:

According to the physical symbol system hypothesis, representations are distinct and
identifiable components in a cognitive system. This need not be true in artificial neural
networks. There are some networks for which it holds. These are called localist
networks. What distinguishes localist networks 1s that each unit codes for a specific
feature in the input data. We might think of the individual units as analogs of concepts.
They are activated when the input has the feature encoded that the unit encodes. The
individual units work as simple feature-detectors. There are many interesting things
that can be done with localist networks. But the artificial neural networks that
researchers have tended to find most exciting have typically been distributed networks
rather than localist ones.

The information that a distributed network carries is not located in any specific
place. Or rather, it is distributed across many specific places. A network stores
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21-

22-

23-

25-

information in its pattern of weights. It is the particular pattern of weights in the
network that determines what output it produces in response to particular inputs. A
network learns by adjusting its weights until it settles into a particular configuration —
hopefully the configuration that produces the right output! The upshot of the learning
algorithm is that the network’s “knowledge” is distributed across the relative strengths
of the connections between different units.

What is the passage mainly about?

1) Feature-detectors 2) Learning algorithms

3) Distributed representations 4) The physical symbol system hypothesis
Which of the following statements is true about representations according to the
physical symbol system hypothesis?

1) They are indistinct and unidentifiable components in a cognitive system.

2) They are distinct and identifiable components in a cognitive system.

3) They are distinct and identitiable components in all artificial neural networks.

4) They are indistinct and unidentifiable components in all artificial neural networks.
The artificial neural networks that researchers have found most exciting are ----------
networks.

1) single-layer 2) feedforward 3) distributed 4) localist
The underlined “it” in paragraph 2 refers to ---------- :

1) a distributed network 2) the information

3) specific place 4) the pattern

The word “upshot” in paragraph 2 is similar in meaning to ---------- >

1) outcome 2) portion 3) evidence 4) aspect
PASSAGE 3:

People make rapid eye movements called saccades about three or four times each
second when they read, view pictures, or explore the world around them. Eyes are
relatively still during the fixations that separate successive saccades. The average
fixation is approximately 250-300 ms in duration, while saccade duration depends on
saccade distance. Saccade duration increases as saccade distance increases, but the
average saccade duration during reading and picture viewing is approximately 30-50
ms. Put another way, the eyes move about three times each second, 180 times each
minute, 10,800 times each hour, and 172,800 times each 16 hour waking day. If one
assumes an average saccade duration of 30 ms, this means that the eyes are in motion
about 90 minutes each day.

Visual saccadic suppression refers to the fact that visual sensitivity is reduced
during saccades, so that the acquisition of visual information from the environment is
restricted largely to fixations. The reduction in visual sensitivity during saccades
appears to be caused primarily by visual masking; the brief, smeared image present on
the retina during a saccade is masked by the clear, bright, long-duration fixations that
precede and follow it.

Central inhibitory mechanisms appear to contribute, however, because a small
amount of visual suppression occurs even when a very faint stimulus is viewed in total
darkness. The magnitude of saccadic suppression varies with viewing conditions (such
as target and background luminance) but under some circumstances subjects are



completely unable to detect a stimulus presented briefly during a saccade. Because of
saccadic suppression, intake of visual information from the environment is largely
restricted to periods of time when the eyes are still.

26- According to the passage, people make rapid eye movements called saccades about three

or four times each second when they do all of the following EXCEPT ---------- .
1) reading 2) sleeping
3) viewing pictures 4) exploring the world
27- What does saccade duration depend on?
1) Visual masking 2) Visual suppression
3) Saccade distance 4) The average fixation
28- According to the passage, the eyes move ---------- i
1) 180 times each minute 2) 180 times each second
3) 10,800 times each quarter of an hour  4) 10,800 times each 16 hour waking day
29- The underlined *‘it” in paragraph 2 refers to ---------- ;
1) the image present on the retina 2) visual sensitivity
3) the retina 4) a saccade

30- Where does the following sentence best fit into the passage?
Thus, 90 minutes during the day when we think we are seeing, we actually are not.
1) Beginning of paragraph 2 2) End of paragraph 2
3) Beginning of paragraph 3 4) End of paragraph 3
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